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This paper consists of NINE (9) questions. Answer ALL questions in the answer booklet
provided. [100 MARKS]

1.  Given a polynomial of P(x) = 6x* — 7x%2 —x + 2,
a) by using factor theorem, show that 3x — 2 is a factor of P(x) (4 marks)

b} by using long division, find the quotient when P(x) is divided with 3x — 2

{4 marks)

2. Decompose the fraction below into its partial fraction.
) —(1_22’;;1) (7 marks)
) it (10 marks)

(x—2)(x+1)?

3. ldris purchased a Perodua Myvi for RM 55 300. The car depreciates at a rate of 10%
each year. Find

a) thevalue of the carin 5 years (5 marks)

b) the profit he will make if he sells the car at RM 38 000 (2 marks)

4, Given that flg(x)] = x> +1,

a) findg(x)if f(x)=1-2x (5 marks)
b) find f(x)ifg(x)=x+3 {5 marks)
c) evaluate 3f(x) + 2g(x) (5 marks)

5.  Determine the continuity of f(x) for each of the following.

a) fl)= \ﬁ;l_s atx=-—1 {5 marks)

by flx)=2x—12atx=3 (5 marks)
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6.

Ishag buys drink from Ramadhan bazar for three days. On Friday, he paid RM 17 for 2
sugarcane, 2 watermelon and 1 mango juice. On Saturday, he paid RM 13 for 3
watermelon and 1 mango juice. On Sunday, he paid RM 15 for 2 sugarcane and 2 mango
juice.

Assume that the price of the juices are indicated follows:

x = price of sugarcane
y = price of watermelon juice
z = price of mango juice

Based on the information above,
a)  write the system of linear equation to explain the scenario (3 marks)

b} solve for x, y and z using matrices operation (10 marks)

Kamarui purchased his double-storey terrace house for RM 520 000 about 15 years ago.
He intends to sell it and move fo a bigger house. Suppose that the price of the house
appreciates by RM 1 500 per month, how much the house can be sold this year? Assume
n in months. (5 marks)

The polynomial f(x) = 2x® + px? + gx — 2 has a remainder of 7 when divided with (2x —
3) and a remainder of -20 when divided with (x + 3). Find the value of p and q.

(10 marks)
Solve the following to find x or the range of x.
a) logzx? +logs x =logg 27 (5 marks)
b) ax(x+10)>4x+7 (5 marks)
¢) [2x+8]=12 (5 marks)

** END OF QUESTION PAPER ***
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Formula

x@ sy P = yath
xa

x—b =
(xa)b = x@b

(xy)* = x%y“
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Properties of logarithms

log,(xy) = log,x+ log,y
X

log, (;) =log.x — log,y

log, x" =n log, x

log,(Vx) = % (log, x)

Properties of equations and inequalities
involving |ax + b|

lax + bl = pis equivalent to
ax+b=porax+b= —p

lax + b| < p is equivalent to
p<ax+b<p

lax + b| > p is equivalent to
ax+b<—porax+b>p

Arithmetic progression

Th=a+(n—1)d
Sn=2[23+(n—1)d
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Geometric progression

T, = A0
a(l—r")
Sn = 1—r
Matrices
AX=B
AT = = Adj (A)
= —— Adj
A
Adj(A) = [Cy]T
Cyj = (—D)HIMy
X=A"1B

Partial fraction
If Q(x) has a form of (ax + b), then

Px) P(x) A B
I G+aEID) E+d) E+b)

If Q(x) has a form of (ax + b)¥ then

Px)  Px) A B
Q(x)_(ax+b)2_(ax—[—b)+(ax+b)2

If Q(x) has a form of (ax? + bx + c) then
P(x) P(x)

Q) (x —d)(@x?+bx +0)

_E. | Ax+B
T x—d)  (ax?+bx+c)

If Q(x) has a form of (ax* + bx + ¢)¥ then
P(x) P(x)

Q® (ax? +bx + )2

Ax+B Cx+D

= +
(ax? +bx+¢) (ax? + bx + ¢)?
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